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UNIVERSITY OF NORTH BENGAL 

B.Com. General Part-II Examination, 2022 

B.COM. 
PAPER-2G8 

CORPORATE ACCOUNTING 
Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. 

 GROUP-A / িবভাগ-ক 
 Answer any two questions  

েয-েকােনা dিট  pেűর উtর দাও 
dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ 

15×2 = 30

1.  (a) Total Assets of Paradise Ltd. are Rs. 4,75,000 and Total Current Liabilities are 
Rs. 1,50,000. The company has 8,000 Equity Shares of Rs. 10 each. 
The Goodwill of the company calculated is Rs. 55,000. 
Calculate the value per share by Asset Backing method. 

10+5

 Paradise Ltd. �কাং-এর �মাট সmিtর পিরমাণ 4,75,000 টাকা এবং �মাট চলিত দায়-এর 
পিরমাণ 1,50,000 টাকা। �কাং-এর �শয়ার মলূধেনর পিরমাণ 8,000 ইkইিট �শয়ার, যার pিতিট 
�শয়ােরর মলূয্ 10 টাকা। �কাং-এর সুনােমর মূলয্ িনধ�ািরত হেয়েছ 55,000 টাকায়। 
Asset Back পdিতেত �শয়ােরর মূলয্ িনধ�ারণ কর। 

(b) Why valuation of Goodwill is necessary? 
 সুনােমর মূলয্ায়েনর pেয়াজনীয়তা িক ? 

 lökoukdks (Goodwill) ewY;k³~dk fdu vko”;d N \ 
  
2.  (a) The Balance Sheet of Sputnik Ltd. as on 31.12.2021 was as under 

Sputnik Ltd.-এর Balance Sheet িনmrপ। 
12+3

 Liabilities Rs. Assets Rs. 
30,000 Equity Shares (Rs. 10 each) 3,00,000 Goodwill 1,00,000 
2,000 8% Preference Shares  
(Rs. 100 each) 

2,00,000 Land & Building 1,62,000 
Plant & Machinery 2,05,000 

Securities Premium 50,000 Stock 94,000 
Creditors 62,000 Debtors 74,000 
Bank Overdraft 73,000 Profit & Loss A/c 50,000 
 6,85,000  6,85,000 

 

 Following a series of trading losses the directors of the company decided to take 
the following scheme of reconstruction: 
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 (i) The value per equity share was reduced by Rs. 5 as fully paid
(ii) The value per preference share also reduced by Rs. 50 as fully paid 
(iii) To write off the face value of Goodwill and Profit & Loss A/c (Dr.) 
(iv) To reduce the value of the following assets: 
 (I) Plant & Machinery by Rs. 45,000 
 (II) Stock by Rs. 14,000 
 (III) Debtors by Rs. 4,000 
Show the necessary journal entries in the books of the company. 

 িবগত কেয়কবৎসর একটানা আিথ�ক kিতর কারেণ �কাং-এর পিরচালকবৃn বয্বসা পুনগ�ঠেনর 
িনmিলিখত পিরকlনা gহণ কের।  
(ক) pিতিট ইkয্ইিট �শয়ােরর মূলয্ 5 টাকার পূণ� আদায়ীkত �শয়াের পিরণত হেব। 
(খ) pিতিট অgািধকারিভিtক �শয়ােরর মূলয্ 50 টাকার পূণ� আদায়ীkত �শয়াের পিরণত হেব।  
(গ) সুনাম ও লাভ-kিত িহসােবর মূলয্ সmূণ�ভােব িহসাব বই �থেক মুেছ �ফলা হেব। 
(ঘ) িনেmর সmিtgিলর মূলয্ায়ন িনিদ�Ŷ অেìর িহসােব hাস করা হেব।  
 (I) Plant & Machinery 45,000 টাকা dারা 
 (II) Stock 14,000 টাকা dারা 
 (III) Debtors 4,000 টাকা dারা। 
�কাং িহসাব বইেত pেয়াজনীয় দািখলা িলিপবd কর। 

(b) What is Capital Reduction? 
 মূলধন hাস বলেত কী �বাঝ ? 
 iw¡th dVkSrh (Capital Reduction) ds gks \ 
  
3.  (a) Bull Ltd. takes over the business of Bear Ltd. for Rs. 2,00,000 payable in 20,000 

Equity Shares of Rs. 10 each. Bull Ltd. takes in following assets and liabilities: 
বুল �কাং 2,00,000 টাকার kয় pিতদােনর িবিনমেয়, যা 20,000 ইkয্ইিট �শয়ার (pিত �শয়ার 10 
টাকার মূেলয্র) িবিলর মাধয্েম পিরেশাধ হেব; িবয়ার �কাং-এর বয্বসা অিধgহণ কের।  
বুল �কাং িনmিলিখত সmিt ও দায় অিধgহণ কের। 
 Fixed Assets Rs. 1,00,000 
 Sundry Debtors Rs. 80,000 
 Stock Rs. 60,000 
 Bank Rs. 10,000 
 Bills Receivable Rs. 20,000 
 Sundry Creditors Rs. 50,000 
 Bills Payable Rs. 10,000 
Debtors of Bear Ltd. include Rs. 20,000 due from Bull Ltd. 
িবয়ার �কাং-এর �মাট অধমেন�র (�ড¡টর) মেধয্ 20,000 টাকা বুল �কাং-এর কােছ পাওনা আেছ। 
Show the acquisition entries in the books of Bull Ltd. 

10+5

(b) Define Amalgamation of companies. 
 �কাmানীর একীকরণ বলেত কী �বাঝ ? 
 ‘Amalgamation of companies’ ifjHkkf’kr xuZqgksl~A 
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4.  (a) Write the difference between Double Account System and Double Entry System. 8+7
 Double Account পdিত ও Double Entry পdিতর পাথ�কয্ �লখ। 
 Double Account System j Double Entry System chpdks fHkUurk ys[uqgksl~A 

(b) Discuss the advantages and disadvantages of double account system. 
 িd-তরফা িহসাব পdিতর সুিবধা ও অসুিবধা আেলাচনা কর।  
 ‘Double account system’ dks Qkbnk j csQkbnkg: NyQy xuZqgksl~A 

  
 GROUP-B / িবভাগ-খ 
5. Answer any two questions: 

�য-�কােনা dিট  pেűর উtর দাওঃ 
dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ 

5×2 = 10

(a) Average yearly profit of Zeal Ltd. is Rs. 85,000. (Before charging manager’s 
commission Rs. 5,000 p.a.) 
Goodwill is valued on the basis of 3 years’ purchase of the average profit. 
Calculate the value of Goodwill. 

5

(b) Write the features of Double Account System. 5
 Double Account পdিতর �বিশŶয্gিল আেলাচনা কর। 
 Double Account System dks fo”ks’krkg: ys[uqgksl~A 

(c) Write a note on Purchase Consideration. 5
 kয় pিতদান সmেক� টীকা �লখ। 
 ‘Purchase Consideration’ ek fVIi.kh ys[uqgksl~A 

(d) Write five items each on Debit and Credit side of Revenue A/c of an Electric 
Supply Co. under Double A/c System. 

5

 Double Account পdিত অনুসাের একিট ইেলকি¹ক সাpাই �কাmানীর �রিভিনউ িহসােবর �ডিবট 
ও �kিডট িদেকর পাঁচিট কের িবষেয়র নাম �লখ। 

 Mcy ,UVªh iz.kkyh vUrxZr fo|qr vkiwfrZ dEiuhdks MsfcV j ØsfMV i{kek ik¡poVk 
oLrqg: ys[uqgksl~A 

  
 GROUP-C / িবভাগ-গ 
6. Answer any five questions  

�য-�কােনা পাঁচিট  pেűর উtর দাও 
dquS ik¡poVk iz”udk mÙkj ys[uqgksl~ 

2×5 = 10

(a) Write two examples of Fictitious Assets. 
 অলীক সmিtর dিট উদাহরণ দাও। 
 ‘Fictitious Assets’ dks nqbZoVk mnkgj.k fnuqgksl~A 

(b) Is Goodwill a tangible assets? 
 সুনাম িক একিট sশ�নীয় সmিt ? 
 ds lökouk ewrZ (tangible) lEifÙk gks \ 
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(c) What is Absorbtion? 
 অিধgহণ কােক বেল ? 
 ‘Absorbtion’ ds gks \ 

(d) Fixed assets Rs. 3,50,000, Current assets Rs. 1,60,000 and Current liabilities 
Rs. 1,75,000. 
Find out Net Assets of the business. 

 িsর সmিtর পিরমাণ 3,50,000, টাকা, চলিত সmিtর পিরমাণ 1,60,000  টাকা। চলিত দায় 
1,75,000 টাকা। 
�কাmানীর নীট সmিt িনণ�য় কর। 

 fLFkj lEifÙk = `3,50,000, gkydks (Current) lEifÙk = `1,60,000 pkyq nkf;Ro 
(Current liabilities) = `1,75,000 O;kikjdks “kq) lEifÙk (Net Assets) iÙkk 
yxkmuqgksl~A 

(e) Write the name of two methods of valuing goodwill. 
 সুনােমর মূলয্ায়েনর dিট পdিতর নাম �লখ। 
 lökoukdks ewY;k³~du xusZ nqbZ rfjdkdks uke ys[uqgksl~A 

(f) What are the two methods of valuation of shares? 
 �শয়ােরর মলূয্ িনণ�েয়র dিট পdিত িক ? 
 “ks;j ewY;k³~du xusZ nqbZ rfjdkdks ds-ds gks \ 

(g) What is External Reconstruction? 
 বািহয্ক পুনগ�ঠন বলেত কী �বাঝ ? 
 ‘External Reconstruction’ ds gks \ 

(h) Write the two names of Long Term Liability. 
 দীঘ�েময়াদী দােয়র dিট উদাহরণ দাও।  
 ‘Long Term Liability’ dks nqbZ ukeg: ys[uqgksl~A 
 

——×—— 
 


